JELD-WEN DOOR

INSTALLATION DETAILS
STEEL 24 GA. WOOD EDGE
FULL LITE NON-IMPACT

TABLE 1

DESIGN PRESSURE RATING:

SIZE

QUALIFIES: FULL LITE ACTIVE PANELS WITH NON-IMPACT GLASS SIDELITE@

MAX. PANEL WIDTH = 35 3/4" 8-0 TALL SYSTEMS:

(XX ) (XXO) (OXXO) ( X ) (OX) (XO) (OXO)

|l ”w 1 ] ”
UP TO 12'-0" X 8'-0 SN [T 3%
OUTSWING/INSWING GENERAL NOTES NEGATIVE _ 35*
1. THIS PRODUCT IS DESIGNED TO COMPLY WITH CURRENT INTERNATIONAL BUILDING CODE (1.B.C.) & INTERNATIONAL RESIDENTIAL INSWING | POSITIVE +35%
CODE (I.R.C.) AND THE CURRENT FLORIDA BUILDING CODES (FBC), EXCLUDING HVHZ AND HAS BEEN EVALUATED IN ACCORDANCE NEGATIVE 3%
TO ASTM E283-04, E330-02, E331-00 AND AAMA 1304-02.
COMPONENT LIST
2. 1X AND 2X WOOD BUCKS BY OTHERS AND MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE STRUCTURE. BUCK TEM DESCRIPTION MATERIAL | QTY.
MATERIAL MUST HAVE A SPECIFIC GRAVITY OF 0.55 OR GREATER. 1 INON-COMPRESSION SHIM (0.25" MAX. THK.) woob |As REQ.
3. PRODUCT ANCHOR TYPES AND SPACING ARE SHOWN ON SHEET 7. DIMENSIONS SHOWN FOR ANCHOR SPACING ARE ALWAYS 2 |2x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER) WOOD | AS REQ.
FROM EDGE OF UNIT FRAME. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. 3 |1x WOOD SUB BUCK (S.G. MUST BE 0.55 OR GREATER) WOOD | AS REQ.
4. THIS DOCUMENT SUPERCEDES OTHER ANCHOR INSTALLATION INSTRUCTIONS 4 _|#10 WOOD INSTALLATION SCREW W/ 1 1/2° MIN. EMBEDMENT, _ STEEL | AS REQ.
FOR NON-IMPACT RATED DOORS. FOR OTHER IMPORTANT 148 7/8" MAX. FRAME 5 |3/16" ITW TAPCON ANCHOR W/ 1 1/4" MIN. EMBEDMENT STEEL |AS REQ.
INSTALLATION INSTRUCTIONS, REFER TO JELD-WEN 37 1/2" MAX. 74" MAX. FRAME 6 [#9 X 2 1/2" PHILLIPS FLATHEAD WOOD SCREW STEEL |2O0R4
DOCUMENT #J11106 (INSTALLATION INSTRUCTIONS FOR FRAME TYP. : 7 |#8 X 2" PHILLIPS FLATHEAD WOOD SCREW STEEL |AS REQ.
\lijI’EEB-g#EGJEFJWERIOSOFLS)LEZI%E%?EJJE CJ,:_E;D-WEN ] 32#?#'2 : 8 | #9 X 3/4" PHILLIPS FLATHEAD WOOD SCREW STEEL |30 OR 60
INSTALLATION & FINISHING/. | 9 |1" O.A.1G NON-IMPACT FRAME GLAZED BY ODL Polypropylene| 1 OR 4
i 10 |LOCK SERIES 400 STEEL 1
[5. >FLORIDA APPROVED SHUTTERS < s N P 11 |DEADBOLT SERIES 660 STEEL 1
FRE TIEEDED WHEN IMPACT PROTECTION - 12 |FLAT LITEKIT ALUMINUM | 1
| 5 O g / N\ 13 | ADA THRESHOLD ALUMINUM | 1
6. FOR DESIGN PRESSURE RATINGS, P / N NOTE: IF PRODUCT IS CONSTRUCTED USING THE OUTSWING ENDURA
SEE TABLE 1, SHEET 1. gow O FOB4566 (SHOWN BELOW), THEN PRODUCT DOES NOT REQUIRE N
582 & ( OVERHANG PROTECTION. OTHERWISE, REMAINING SILLS LISTED ON Z: L
7- ALL FASTENERS IN WOOD SHALL ZZx o SHEETS 3 THRU. 6 HAVE NOT BEEN RATED FOR WATER INFILTRATION. o380 g
BE COUNTERSUNK 3/16" DEEP. = =5 9 e IF AUTHORITY HAVING JURISDICTION VALIDATES overnanG | [l o 2508
EXAMPLE:  3/16"—=—| |~— 2z & \ °® / THAT PRODUCT MEETS THIS AND/OR OTHER ‘ ‘ LENGTH fleaead
3 ° & REQUIREMENTS, - S @| 50O @
2w N\ / LISTED PRODUCT w| G 9 P
( = 4 ” “ ’ ~ MAY BE USED PSR Y
L f WHEN INSTALLED ]2 Sy
FIXED ACTIVE INACTIVE FIXED AT LOCATION ENDURA FOB4566 . z| B g £ x
12-0 X 8-0 ELEVATION PROTECTED BY iy Rsgl
OVERHANG SUCH THAT OVERHANG (OH) RATIO = 2| %
NON-IMPACT LITE DOUBLE DOOR W/ FULL 3-0 SIDELITES (OXXO) OH LENGTH + OH HEIGHT IS = 1.0 T
37 1/2" MAX. O.A. OVERHANG £ =
SEE SHT. #2 RATIO o é
FRAME TYP. " MAX. FR AME+‘ ‘ 75" MAX. FRAME -‘ 112 1/2" MAX. FRAME | ‘ 74" MAX. FRAME—»‘ Y s )
x >
T 8| Zg E
‘ S J4E| s
N \ N N N 7 AN N 7z N N 2 E a
\. o2 a
SR \ / / \ 2R - 28 2
= (O]
2 8| N / / \ / \ <3 &=
© @ T & < O
& o w L -5 >
502 DL - I o
O] > < A w o o=
Z S e \ ® ® e == G
FHERC @ @ : -
>~0 w = e
0 x / A AN AN / N\ Hrlz 3
< ” ” N ” ’ N Pl
= > <58 2
ACTIVE ACTIVE ACTIVE ACTIVE ACTIVE e O < 9
FIXED FIXED FIXED FIXED FIXED x g (|_|5|
OPAQUE FULL LITE 6-0 X 8-0 ELEVATION 6-0 X 8-0 ELEVATION 9-0 X 8-0 ELEVATION ﬁ 'g_(
3-0 X 8-0 ELEVATION DOUBLE (OX) DOUBLE (XO) TRIPLE (OXO) EE 212312012
SINGLE (X) & () = 2/23/
SHEET INDEX ?LE: NONE
SHEET # DESCRIPTION fwe. ov: G.LUBBECKE
1 GENERAL NOTES, B.O.M. & ELEVATIONS )
2 OUTSWING/INSWING BOX MULLING DETAILS ch.ev: S.SAFFELL
3 OUTSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD T 01/30/20  DWG NUM. CHANGE FRO i ; .
4 OUTSWING VERT. AND HORIZ. SECTIONS IN MASONRY/CONCRETE WiS20 137, 70 DOTSESD] Digitally signed by Hermes F Norero : DRAWING No.:
5 INSWING VERTICAL AND HORIZONTAL SECTIONS IN WOOD ADA THRESHOLD ADDED Reason: | am approving this document DANIY B A HIFL 33 D015859
6 INSWING VERT. AND HORIZ. SECTIONS IN MASONRY/CONCRETE NOJ| DATE BY Date: 2020.09.26 09:01:52 +02'00" ’ L
7 OUTSWING AND INSWING ANCHORING DETAILS REVISIONS FBPE CERT. dl‘ AUTH.ING. 29578 [stesr 1 o 7




APPLY DAP ALEX PLUS SILICONE

748X 2"
PFH SCREW AT JAMBS BEFORE MULLING
EACH MULLION TYP. ; ~ 211/8" MAX. D.LO.——|

z AN
.2 — & 1
" FIXED ACTIVE ; ‘
? f B2 B2
G oa
o, F c
% °
Sk a
3 : £ Al
¢ g A\
T e ®
) 2
JE— —
\
N Ul S
I / Z“ o = LrH) o)
J _ SRz
AN ) £ % % Lro‘1
ol Bag®
) AR
| ODL LIP-LITE NON-IMPACT °ldgT
h 3-0 X 8-0 SHOWN E]E 0 gL
LN | ™ 5 £ v
T 1/2 MIN. SEALANT nTeRIOR >
N e INTERIOR 1/8" TEMPERED GLASS BITE~
@\\ SIDE GLASS e 1/8” TEMPERED GLASS w .
b ; / DOW995 G ‘ E. 5
N < STRUCTURAL— ] 0 2
! T SEALANT {-\ - 35 5
n 13/4" 1" MAX. S SUSIIISISISY - § ; ud' %
i jﬁ 1/8” TEMPERED GLASS s E 5
W —_— 3/4" AIRSPA$CE EXTERIOR >C<, > !
~— 3/8" MIN. GLASS SEALANT S5 g
) —l1agl-—  BITE DETAIL uil g
z =z =
o 20 1/2" MAX. D, ADTH,,, oz e
5 DETAIL B2 62 58" MAXDY QagfaNy 7, | B2, S
o ODL NON-IMPACT GLAZING DETAIL \\\ @) /,, <5 % %
{ MAX. D.L.O: 21 1/8" X 79 1/8" S 2 ©=2 3
BOX SIDELITE MULL ~ = o '5 N g =
MAX. 4 UNITS =33 i = mn
EXAMPLE: OXXO, OXO, OX S : =3 P = /23/201
f =2 S | SeNONE
=20 s (2: 3. ev: G.LUBBECKE
DETAIL A2 Z d & oo s sarreLL
\) YA PE
(7) FASTENER LOCATIONS AT 298 Ef'- e n b E e RO Es
DOUBLE-BACK JAMB ATTACHMENT DA mPF A 'FL 33 D015859
FBPE CERT. d‘r\lhmﬂ.‘:&o. 20578 |swEer 2 of 7




1" MIN, == 1" MIN. 1" MIN, =——=}=—— 1" MIN.
11/2" MIN. ' /@ 11/2" MIN. 2 /@
EMB. | : EMB. | :
114" ! 114" Y
MAX. 1/8" MAX.
SHIM SHIM EXTERIOR
SEE NOTE #7 INTERIOR EXTERIOR SEE NOTE #7 INTERIOR -
ON SHEET 1 ON SHEET 1
| )
OUTSWING OPERATING UNIT OUTSWING FIXED UNIT
VERTICAL CROSS SECTION VERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB
11/2" MIN.
EMBED.
(a)]
1/4" MAX.
T [TSHIM
| ‘ SEE NOTE #7 HINGE DETAIL:
ON SHEET 1 TOP = 6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6)
1" MIN CENTER = 8 SCREWS (ITEM #8)
A BOTTOM = 8 SCREWS (ITEM #8)
—~—
v INTERIOR
T T /C> 2X
1" MIN. e
=
X //
S A AN
EXTERIOR W
FIXED UNIT == R
HORIZONTAL CROSS SECTION
OUTSWING SHOWN i /

EXTERIOR

1/4" MAX.

|

SHIM
11/2" MIN.
EMBED.
OUTSWING LATCH JAMB AT FRAME
HORIZONTAL CROSS SECTION

ON SHEET 1

1/4" MAX.
SHIM ™™

11/2" MIN.

EMBED.

EXTERIOR

SEE NOTE #7
ON SHEET 1

0

EXTERIOR

OUTSWING FIXED UNIT

VERTICAL CROSS SECTION

1 1/2" MIN. 2
EMBED. :
f ‘ - MIN ‘ INTERIOR
1" MIN ;
OUTSWING OPERATING UNIT 11/2" MIN|
VERTICAL CROSS SECTION
W f ‘
4 |
INTERIOR EXTERIOR
i -
11/2" MIN. /@
EMBED.
f |~ 1" MIN
1" MIN
OUTSWING OPERATING UNIT ,

VERTICAL CROSS SECTION

13/4" MIN. ‘

EMBED.

“ 1" MIN 4_5_7 1" MIN
f

OUTSWING OPERATING UNIT

VERTICAL CROSS SECTION

NOTES:

ADA SILL

D FOR PLACEMENT OF ITW TAPCON ANCHORS IN 2X BUCK OR
1X BUCK CONCRETE/MASONRY OPENINGS, SEE SHEET 4.

@ OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION
OF HEAD OR JAMB AS LONG AS MINIMUM EMBEDMENT AND

EDGE DISTANCE ARE ACHIEVED.

@ ITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE I%S* L
HINGE AT JOB SITE, CLOSEST TO WEAT

[4 AT SILL, PLACE ANCHOR IN SILL BAS@

MAXIMUM SUPPORT.

OUTSWING HINGE JAMB AT FRAME

HORIZONTAL CROSS SECTION

\\\‘

Wity
7

‘s

SILICONE AT SILL

o
L]

Z ; 3 1
°o/ g3
o =N m
a m o

o

£ X
8| g O @
Q‘(I;A
<] o 2 -
2| X © ¥
M uw n
o_l_:v
a s ..
N © O
Z|l g S

S HEEE-
Bl

Fax: (541) 850-2609

24 GA. STEEL W.E. 12-0 X 8-0 FULL LITE
WITH NON-IMPACT FULL SIDELITES

OUTSWING VERTICAL AND HORIZONTAL SECTIONS|

IN WOOD

DRAWING No.:

>
Ty =
3
5 g
= £
=% % :
= e 2/23/2012
et 8 | o=
= 7) SLE-NONE
o) . ov: G.LUBBECKE
P >
,, cHk. BY: S, SAFFELL
“F

D015859

SHEET 3 OoF 7




~— 1"MIN. 1" MIN.
1" MIN 1" MIN 1" MIN 1" MIN TSoNRY SEE NOTE #7 1" MIN
= : : — : : MASONRY p " = 1"MIN. —]
S 11/4
17 MIN. 1% MIN. / BY OTHERS TYP. ON SHEET 1 NTERIOR MIN. | 1 MIN.
L D "IN D BMB. | el
El\’\:g\lléD ' ' ;/@ INTERIOR EXTERIOR EXTERIOR RN ST
| \/“V“\/A\/“‘“/@ | IR et Bl 11/4" MIN ’ ] R o
N t T g . N H T . . EMBED | > L / ol
T B 2 el IS 5 N R concreTE 1 &K@
f -/ f />< : MASONRY ' \@
CONCRETE/ 114" T ; BY OTHERS .
MASONRY { /@ MIN. 1 ﬁ</® EMBED Y
BY OTHERS | EMBED s 7 i SHiM
e //// % g AN | 1 1" MIN 1" MIN INTERIOR EXTERIOR
e EXTERIOR MAX. 1" MIN B
MAX. SHIM EXTERIOR OUTSWING OPERATING UNIT
SHIM VERTICAL CROSS SECTION OUTSWING FIXED UNIT SEE NOTE #7 OUTSWING OPERATING UNIT
SEE NOTE #7 _/ INTERIOR VERTICAL CROSS SECTION ON SHEET 1 VERTICAL CROSS SECTION
SEE NOTE #7 INTERIOR ) P i SILICONE AT SILL OPTIONAL 1X BUCK
ON SHEET 1 OUTSWING OPERATING UNIT OUTSWING FIXED UNIT
VERTICAL CROSS SECTION VERTICAL CROSS SECTION —
HEAD JAMB HEAD JAMB
INTERIOR EXTERIOR CONCRETE/MASONRY
HINGE DETAIL: ) v BY OTHERS
TOP = 6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) 1 1/4" MIN. el \ I e
CENTER TOP = 8 SCREWS (ITEM #8) EMBED =
\\ CENTER BOTTOM = 8 SCREWS (ITEM #8) T
N 4
N 1" MIN. Z"’
N / : o Sh o
N ) S <3
N\ IVTERIOR g) / - 1 i —] 1 MIN ——] o 2858
\ £ X o d
b N . 2X OUTSWING OPERATING UNIT ¥ g9%® %
S NN 1" MIN. VERTICAL CROSS SECTION @ gLd A
1" MIN.S, N " MIN . NN \ B2 C R T
. . ! ] " SEE ITEM #7 Slls e
L N *‘ ‘J"‘SF’mX- SEE NOTE #7 T"MIN. T P ON SHEET 1 h—]z 582y
[/
ON SHEET 1 Y, L J ‘ 1/4" MAX. s |5 S _§ L
11/4" MIN M T sHiM P
EMBED.
FIXED UNIT De 2X 114" | -
HORIZONTAL CROSS SECTION J MIN. EMBED 3
OUTSWING SHOWN S/ @ZX OUTSWING OPERATING UNIT = E
. / HORIZONTAL CROSS SECTION -9 T
E <O < / 1 174" MIN. OPTIONAL 1X BUCK == i
EMBED >4 .
a4 N = [a) = -
— O w
1" MIN. . . g S
4 . 1" MIN. < - g LZ)
1"MIN. |2 &) 1"MIN. o 283
o (= “5) ez
. INTERIOR . -2 Zx
. . wg| =2
a . R I - —
T z A 32
s N : o8 E=
1" MIN. . g 1" MIN. ! m 2 ¥ =
p SEE NOTE #7 1" MIN By U5
ERVICR B ON SHEET 1 5 R I : s EIER:
: : : <5 |5 2
. . G 2 2
i “la 1/4" MAX. SR 2 © 25
— = o]
p SHIM N ° @
AR AN ‘ 11/4" MIN., 2 £ 3
11/4" MIN. SHIM — = EMmBED. = °
EMBED. f B ware: 2/23/2012
OUTSWING HINGE JAMB AT FRAME OUTSWING LATCH JAMB AT FRAME ‘ 114" MAX. ==
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION v = sHM sete: NONE
NOTES: Shi B, ov: G.LUBBECKE
[1 >OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM CRETE/MASONRY —— 1 12" MIN
EMBEDMENT AND EDGE DISTANCE ARE ACHIEVED. BY OTHERS EMBED | cikBY: S.SAFFELL
OPTIONAL MASONRY/CONCRETE INSTALL E DRAWING No:
ITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP. iJ;
(2> ( ) CROSS SECTION OF HEAD JAMB OR SIDE JAMB | 398 ity e Al BL D015859
[3 >AT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT. P%A ) 33.,00‘3‘
FBPE CERT. OF AUTH.\NO. 20578 |s=r 4 or 7




1" MIN, |=——=}=—— 1" MIN. 1" MIN, |=——=}=—— 1" MIN. ) W
11/2" MIN, @ 11/2" MIN. @
EMB. | /@ EMB. | /@ EXTERIOR INTERIOR EXTERIOR INTERIOR
1/4" 1/4" % /@
MAX. 1/8" MAX.
SHIM SHIM / 1 1/2" MIN.
SEE NOTE #7 EXTERIOR INTERIOR SEE NOTE #7 EMBED.
ON SHEET 1 ON SHEET 1 ? ‘
EXTERIOR | nreRoR | 1 MIN ‘
INSWING OPERATING UNIT INSWING FIXED UNIT 1"MIN \
VERTICAL CROSS SECTION VERTICAL CROSS SECTION INSWING OPERATING UNIT INSWING OPERATING UNIT
HEAD JAMB HEAD JAMB VERTICAL CROSS SECTION VERTICAL CROSS SECTION
11/2" MIN. INTERIOR
EMBED. s
1/4" MAX. 14 (4 EXTERIOR
—- ‘«S,.”M HINGE DETAIL:
| SEE NOTE #7 TOP = 6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6)
ON SHEET 1 CENTER TOP = 8 SCREWS (ITEM #8) f ﬂ .
1" MIN CENTER BOTTOM = 8 SCREWS (ITEM #8) 1 1/2" MIN ~J /@ Z: o
SRV A\ BOTTOM = 8 SCREWS (ITEM #8) EMBED. . mg .g § £ g
— = N O
T EXTERIOR /C) e al @ 250
L] n
‘<—1"MIN S 8aa®
1" MIN 8535
1 8 — 1"MIN  |=— 2L C R Y
‘ Ol 1T
4X / — INSWING OPERATING UNIT W ,_]; NB U
/] 1" VERTICAL CROSS SECTION SN 55 5@
1 AR — | 2

INTERIOR
FIXED UNIT

é f
W 13 "'V“N-‘ EXTERIOR INTERIOR
HORIZONTAL CROSS SECTION EMBED. [{a(4)
INSWING SHOWN : w " MIN ——]
(7) ()] L

INSWING OPERATING UNIT
VERTICAL CROSS SECTION
ADA SILL i
INTERIOR 11/2" MIN.
EMBED.

! !

NOTES:
FOR PLACEMENT OF ITW TAPCON ANCHORS IN

24 GA. STEEL W.E. 12-0 X 8-0 FULL LITE
WITH NON-IMPACT FULL SIDELITES

INSWING VERTICAL AND HORIZONTAL SECTIOINS
IN WOOD

PART OR ASSEMBLY

2X BUCK OR 1X BUCK CONCRETE/MASONRY L
OPENINGS, SEE SHEET 6
1" MIN, ?_
SEE NOTE #7 OPTIONALLY, ANCHOR CAN BE PLACED IN -
ON SHEET 1 } @NARROW SECTION OF HEAD OR JAMB AS e 2/23/2012
1/4" MAX. LONG AS MINIMUM EMBEDMENT AND EDGE -
1/4" MAX s&ile: NONE
B : SHIM ™ [ DISTANCE ARE ACHIEVED. -~
SHIM 1.1/2" MIN (Dwc. sv: G.LUBBECKE
11/2" MIN. [3 >ITEM#8, (#9 X 2 1/2") TWO SCREWS TO BE )
EMBED. EMBED. INSTALLED IN TOP HINGE AT JOB SITE, chk8Y: S.SAFFELL
INSWING LATCH JAMB AT FRAME INSWING HINGE JAMB AT FRAME CLOSEST TO WEATHERSTRIP. DRAWING No.:
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION [4 AT SILL, PLAGE ANCHOR IN'SILL D015859
BASE MATERIAL FOR MAXIMUM SUPPORT. SHEET 5 OF 7




CONCRETE/MASONRY T 7T v = 1"MIN. 1" MIN.
— 1"MIN BY OTHEnR,ﬁ'N — 1" MIN. 1" MIN. CONCRETE/MASONRY 11/4" ~—— 1"MIN. —~
; ) MIN /BY OTHERS MIN. | 1 MIN [1>
[~ 1"MIN. — INTERIOR .
1 14" 11/4" EXTERIOR | fl [} JINTERIOR EXTEROR [ i R} BMB o~ ]
" N 3 5K 3 o S
MIN. |~——{ 1" MIN. MIN. 1" MIN. w 5 T 1] s . . /@
EMBED./_| R BMBED. | L ] > .e o
| RS S | R 11/4" MIN. — 11/4" MIN. TS
P . . 5 . L EMBED 7 EMBED it ><
. - - R . g /@ T - > T e CONCRETE—1_ “@
L © e Do MASONRY T~
! /@ I >< N R : = BY OTHERS 1/’4" // % ‘/// L 207 \@
- T 9z 4 % - SHIM
* /// ///// 7 174" s —| 1w 1+ MIN — — 1 min 1" MIN \ INTERIOR EXTERIOR
. MAX. "
I\JI;/:X 4 INTERIOR SHIM INSWING OPERATING UNIT INSWING OPERATING UNIT SEE NOTE #7
o TEROR TR e NOTE#7/ EXTERIOR N VERTICAL CROSS SECTION VERTICAL CROSS SECTION oNSHEET1  INSWING OPERATING UNIT
ON SHEET 1 —_— VERTICAL CROSS SECTION
SEENOTE #7_/ INSWING OPERATING UNIT INSWING FIXED UNIT T T "7 OPTIONAL 1X BUCK
ONSHEET1  VERTICAL CROSS SECTION VERTICAL CROSS SECTION
HEAD JAMB HEAD JAMB INTERIOR
EXTERIOR INTERIOR 3 EXTERIOR —
11/4" MIN. il &
EMBED. = 53
5 T 1/4" MAX. 1 1/4" MIN. — 1 1/4" MIN, = T
Jos TTTSHIM wreRioR EMBED ¢ | . EMBED {,T %
N AR R AR .
el N HINGE DETAIL: L SRENE ¥ R S
o N i TOP =6 SCREWS (ITEM #8), 2 SCREWS (ITEM #6) B - o, .
’ N : CENTER = 8 SCREWS (ITEM #8) - ey | p— . Z.. e
o _ " " o n
. N WYexeror BOTTOM = 8 SCREWS (ITEM #8) : ‘ : ‘ SHEES S
v (o)) 1
Q2 P ™~ INSWING OPERATING UNIT INSWING FIXED UNIT A P x 1] g
N T MIN / Jﬁx VERTICAL CROSS SECTION VERTICAL CROSS SECTION “1 8928
1" MIN. @ U == —~
¢ N \ R
SEE'NOTE #7 CONCRETE/MASONRY al 2 s oL
FIXED UNIT ONSHEET1  2X BY OTHERS | b—]z B e 2
HORIZONTAL CROSS SECTION INTERIOR | fadz | 5 & £ &
INSWING SHOWN H X Q
2 (6 2x ”
~ w g
e = G
- EXTERIOR = &
\ . _~ INTERIOR = 355 o
, INTERIOR ~ T m < w
a Er
“ Nl 2| B¢
1" MIN. > " " “
. IV «—-‘ (LT a N\ \seEmEM#7 | % o 5e
I P N, TMIN. . ON SHEET 1 o S8
Ay o L e I5| s
“ = sHIM "2 O
: 2 uox Zz
e 1174 | =z <3
: ' MIN MIN. EMBED it = g 2
; Wl Ty, o 2 9=
1" MIN. “ 1" MIN. 'L 1" MIN . ] % E =
. 1" MIN. ) : = > ]
v, b ! FER wEg s
LU | 350 ¢
S SEE NOTE #7 o =
‘ ™ = SHIM ‘ 1 1/4" MIN. ON SHEET 1 ﬁ N E %
1 1/4" MIN. — -— 1~
EMBED. - EMBED: . v, - =
INSWING HINGE JAMB AT FRAME INSWING LATCH JAMB AT FRAME o 2/23/2012
HORIZONTAL CROSS SECTION HORIZONTAL CROSS SECTION -
&= NONE
NOTES: @G- 8v: G.LUBBECKE
(1 >OPTIONALLY, ANCHOR CAN BE PLACED IN NARROW SECTION OF HEAD OR JAMB AS LONG AS MINIMUM k. BY: S.SAFFELL
EMBEDMENT AND EDGE DISTANCE ARE ACHIEVED. ONCRETE/MASONRY —— 1 172" MIN. P
BY OTHERS EMBED T B DRAWING No.:
[2 DITEM #6, (#9 X 2 1/2") TWO SCREWS TO BE INSTALLED IN TOP HINGE AT JOB SITE , CLOSEST TO WEATHERSTRIP. OPTIONAL MASONRY/CONCRETE INSTALL DANHY BE g "33 D015859
3 i
[3 DAT SILL, PLACE ANCHOR IN SILL BASE MATERIAL FOR MAXIMUM SUPPORT. CROSS SECTION OF HEAD JAMB OR SIDE JAMB FBPE CERT. d?! AUTH 'NOQ. 20578 |svesr 6 oF 7




< 37T 12"MAX. _ |

(8) ANCHOR LOCATIONS AT MULL
(LEFT MULL SHOWN,
RIGHT MULL OPPOSITE SHOWN)

¢

PANEL | CENTER

¢
) 0 X 0

NOTE: ~— 74" MAX. O.A. FRAME =<
eo SHIM FOR SUPPORT AT OR NEAR s O.A. FRAME I_— ~
— EACH ANCHOR IS REQUIRED —— ‘«3" TYP. @ 3" TYP.»‘ —— —— ‘«3" TYP. © O
g l ol L$<3\l J_jg
/ \ o Q 1 | - T L . g
149" MAX. O.A. FRAME > S0 f | T &
\ | —— ‘«3" TYP. - - 3" TYP.»‘ - o 0S| g gl L
20 [ ~
(E// i 1L 1l ’ NN, * Ll g 4 ‘ Q,é | B7 s é . ‘
2 g 47 | | -~ | . Y ¢ ¢ e DA
Z —~ | | | = = -
o | I | oG
nE T F—— o T
e = . a o ~ O
o2 A7 B7 A7 g g X ‘ X o ?
ez = i L. o
ug ¢ ¢ et ¢ t ot Ha L er 4 X et
2 | b
i é j | | | L 8 - D7 "7 i+ i + F i
éé O X X O _ f T f f EEEE f f j f T j
o3 = E=> ' .
58 | ] PR 6-0 X 8-0 OUTSWING/INSWING 5.4 x 8.0 OUTSWING/INSWING
S A I D7 | b7 ! P =0 (30) ANCHOR LOCATIONS (18) ANCHOR LOCATIONS
% T U f 111 l I — ‘ T j - (FROM EDGE OF FRAME) (FROM EDGE OF FRAME)
" . b = 2 6" 6" .
12:0X -0 OUTSWINGINSWING " op AXFRAME e T~ T 25X . TY%_ - Zi =
(50) ANCHOR LOCATIONS J B S b ST B UY ﬁ» | "TYP. o 2553
(FROM EDGE OF FRAME) Q9 - | - T ~ O S L T S E883
. 207 - 1 i R
112 1/2" MAX FRAME fogx %Z I $ AEFEX:
" " <ok = r gl = )
——| =3 TYP. 3TYP—— = 25392 SN
[\l
‘ i |_L_L 1 1 _L_L! 4 &éggi’* ([:_ A7 ﬂt _)_7? 0] y X m; Réém
= - — ~ O < = d
| ! ? W h: EJ; PANEL)(CENTER _
% 50 1 00
1 l i ¥ O /® o ' peraLar
== f X DETAIL A7
A7 A7 5 s &
53
(o]
»

%:
‘ 4L
T
—

——

! 1 1 T
6-0 X 8-0 OUTSWING/INSWING ﬁ

96 5/8" MAX. FRAME (OUTSWING)
98" MAX. FRAME (INSWING)

WITH NON-IMPACT FULL SIDELITES

24 GA. STEEL W.E. 12-0 X 8-0 FULL LITE

INSWING AND OUTSWING ANCHORING DETAILS

B | o E—_' (28) ANCHOR LOCATIONS (FROM EDGE OF FRAME)
. = e TYP = TP =
! : P Aj/y@
+ F L 3" TYP)— -
T 1 11 =1 11 = 1 JL ~L JL a
f f i ] ] ] H
9-0 X 8-0 OUTSWING/INSWING ]ﬂ s g
(38) ANCHOR LOCATIONS ¢- 2 g
FROM EDGE OF FRAME = g
( ] ) 1- BOTTOM ASTRAGAL X X ;. 2/23/2012
2- #8 X 3" PFH AE—=—=—=—. STRIKEPLUG | =
— SCREW —— { \ S| B le:NONE
ﬂ | |l I Bvc. ov: G.LUBBECKE
06 7, e B S.SAFFELL
1-S¥8FKQSJLRAA|-<EAL 1- BOTTOM SHOOT DETAIL B7 9 E,'FL ~ i 3 B . T \3\\ DRAWING No.:
DETAIL C7-C7 DETAIL D7—D7 BOLT INSERT PLUG DETAIL D7-D7  (10) ANCHOR LOCATIONS 398 lDﬁl?I?mp A szg\ RM3381 po15859
OUTSWING OR INSWING OUTSWING ONLY INSWING ONLY AT ASTRAGAL FBPE CERT. dﬁm}lﬂ\'\}o 29578 |swEET 7 oF 7




		2020-09-26T09:01:52+0200
	Hermes F Norero
	I am approving this document




